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Οπότε για λ  4 το  
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Συνοπτικά 
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αν 2  λ 0 λ 2  τότε  
x 4
limf x


   

Τέλος 

Αν λ 2 τότε 

 
 

   
       

2
2

2 2 2

x 2 x 2x 2 x 2 x 4
f x

x 4 x 4 x 2 x 4 x 2

   
   

      
2

1

x 4  x 2



  

 
   

1
f x

x 4 x 2
 

 
 

Οπότε 

   
x 4 x 4 x 4

1 1 1
lim f x lim lim

x 4 4x 2
    

     


    

και 

   
x 4 x 4 x 4

1 1 1
lim f x lim lim

x 4 4x 2
    

     


 

Οπότε για λ  2 το  
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limf x
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 δεν υπάρχει  

Συνοπτικά 
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Οπότε για λ 6   το  
x 1
limf x


 δεν υπάρχει  
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